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QUESTION 1

Which of the following cannot be used to transfer data? 

A. Local variables 

B. Queues 

C. Semaphores 

D. Notifiers 

Correct Answer: C 

 

QUESTION 2

Which code will produce this front panel? (Time zone set to UTC+00:00) 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 3
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Which combination of words correctly completes the following statement? 

Unlike__________, which display only the most recent array of values written to them, ___________ update periodically
and maintain a history of the past data. 

A. graphs; charts 

B. charts; plots 

C. plots; graphs 

D. charts; graphs 

Correct Answer: A 

 

QUESTION 4

Formula nodes accept which of the following operations? 

A. Basic programming language instructions Input and Print 

B. Embedding of SubVIs within the Formula Node 

C. Pre and post increment (++) and decrement (--) as in the C language 

D. The use of nested Formula Node structures 

Correct Answer: C 

 

QUESTION 5

In the figure below, the output of Array Size is 

A. a 1-D Array of {2, 3} 

B. a 1-D Array of {3,2} 

C. 2 

D. None of the above 

Correct Answer: A 
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